

6-Year Graduation Rates by Degree Program Fall 2013 First-time Freshman Cohort

 $Includes\ part-time,\ full-time,\ associate\ degree\ and\ baccalaure at edgree\ seeking\ students.$

 $Does\ not\ include\ transfer\ students\ or\ students\ from\ other\ first-time\ freshman\ cohorts.$

									Katio oi
						#	%	# Earning	Degree
					%	Earning	Earning	This	Earners
					Earning	Degree	Degree	Degree	(this
			# in	# Earning	Any	in Initial	in Initial	in 6	degree)
			Initial	Any	Degree	Major	Major	Yrs*(any	to initial
Major	Degree	Program Major-	2012	Degree in	in 6	Option	Option in	initial	Cohort in
Code	Type	Option	Cohort	6 Years	Years	in 6 Yrs	6 Yrs	major)	6 Yrs*
003	AA	Biological Science	34	9	26.5%	1	2.9%	8	23.5%
		Business							
004	AA	Administration	59	10	16.9%	3	5.1%	16	27.1%
011			22	7	24.00/	-	22.70/		40.00/
011	AA	Elementary Education	22	7	31.8%	5	22.7%		40.9%
012	AA	Secondary Education Social Science -	8	1	12.5%	1	12.5%	2	25.0%
019	AA	Sociology	0	0		0		0	
0_0		Social Science -							
		Psychology	9	0	0.0%	0	0.0%	4	44.4%
		Social Science - Political							
		Science	0	0		0		0	
		Social Science - History	2	0	0.0%	0	0.0%	0	0.0%
		Social Science - History		U	0.0%	U	0.0%	U	0.0%
		Social Science - Total**	11	0	0.0%	0	0.0%	4	36.4%
023	AA	Liberal Arts - General	11	2	18.2%	1	9.1%	2	18.2%
023	77	Liberal Arts - English	3		66.7%	1	33.3%		66.7%
		Liberal Arts - Native	3		00.7%		33.3%	2	00.7%
		American	0	0		0		0	
		Liberal Arts - Total**	14	4	28.6%	2	14.3%		28.6%
		Physical Science -	±-7		20.070	_	14.570	T	20.070
028	AS	Engineering	14	4	28.6%	3	21.4%	3	21.4%
		Physical Science -							
		Chemistry	0	0		0		2	
		Physical Science -							
		Geology	0	0		0		0	
		Physical Science -							
		Total**	14		28.6%	3			35.7%
043	AA	Accounting	18	1	5.6%	0	0.0%	3	16.7%
054	AAS	Nursing (Not Admitted)	139	36	25.9%	0	0.0%	0	0.0%
		Emergency Medical							
094	AAS	Services	8	1	12.5%	1	12.5%	3	37.5%



			,						Natio oi
						#	%	# Earning	
					%	Earning	Earning	This	Earners
				=	Earning	Degree	Degree	Degree	(this
			# in	# Earning	-	in Initial	in Initial	in 6	degree)
Maior	Daguas	Drogram Major	Initial 2012	Any	Degree in 6	Major	Major	Yrs*(any initial	to initial Cohort in
Major Code	Degree Type	Program Major- Option	Cohort	Degree in 6 Years	Years	Option in 6 Yrs	Option in 6 Yrs	major)	6 Yrs*
097	AS	Computer Science	13	4	30.8%	2	15.4%	3	23.1%
107	BT	Applied Technology	2	2	100.0%	0	0.0%	2	100.0%
107	ы	друпси тесппоюду	2	2	100.070	U	0.070		100.070
		Business Information							
		Technology - Software							
108	BS	Development	3	1	33.3%	0	0.0%	0	0.0%
		Business Information							
		Technology - Computer							
		Network							
		Administration	1	0	0.0%	0	0.0%	1	100.0%
		Business Information							
		Technology - Total **	4	1	25.0%	0	0.0%	1	25.0%
		realition by rotal	T	1	25.070	- O	0.070	1	25.070
109	ВА	Liberal Arts - General	0	0		0		0	
		Liberal Arts - English	5	1	20.0%	1	20.0%	5	100.0%
		Liberal Arts - Global							
		Humanities	2	2	100.0%	0	0.0%	0	0.0%
		Liberal Arts - Total**	7	3	42.9%	1	14.3%	5	71.4%
110	BS	Social Science -History	1	0	0.0%	0	0.0%	1	100.0%
110	53	Social Science - Political	1	0	0.070	0	0.070	1	100.070
		Science	3	2	66.7%	0	0.0%	0	0.0%
		Social Science -							
		Psychology	17	6	35.3%	2	11.8%	9	52.9%
		Social Science -							
		Sociology	2	0	0.0%	0	0.0%	2	100.0%
		Social Science - Total **	23	8	34.8%	1	4.3%	12	52.2%
111	AAS	Applied Technology	42	1	2.4%	0		2	4.8%
	_	Applied Technology -							
		Bus. Info & Eng Tech	6	1	16.7%	0	0.0%	0	0.0%
		Applied Technology -							
		Public & Health							
		Services Applied Technology -	0	0		0		0	
		Construction							
		Management	0	0		0		0	
		Management	U	U		U		U	



Major	Degree	Program Major-	# in Initial 2012	# Earning Any Degree in	% Earning Any Degree in 6	# Earning Degree in Initial Major Option	% Earning Degree in Initial Major Option in	Yrs*(any	Degree Earners (this degree) to initial Cohort in
Code	Type	Option	Cohort	6 Years	Years	in 6 Yrs	6 Yrs	major)	6 Yrs*
		Applied Technology - Manufacturing Management Applied Technology -	0	0		0		0	
		Total**	48	2	4.2%	0	0.0%	2	4.2%
112	BS	Biology - Environmental Conservation	7	2	28.6%	2	28.6%		57.1%
112	ВЗ	Biology - Medical/Molecular	48	21	43.8%	7	14.6%		31.3%
		Biology - Total **	55	23	41.8%	9	16.4%		34.5%
		Business Administration -			121070		201170		5 11375
113	BS	Accounting	7	5	71.4%	1	14.3%	8	114.3%
		Business Administration	3	1	33.3%	0	0.0%	0	0.0%
		Business Administration - Entrepreneurship	4	0	0.0%	0	0.0%	0	0.0%
		Business Administration - Forensic Accounting	1	1	100.0%	0	0.0%	0	0.0%
		Business Administration - Human Resources	2	0	0.0%	0	0.0%	2	100.0%
		Business Administration - Marketing	1	0	0.0%	0	0.0%	4	400.0%
		Business Administration - Management	20	9	45.0%	2	10.0%	10	50.0%
		Business Administration - Total **	38	16	42.1%	2	475.0%	16	42.1%
114	ВА	Communications - Communications Arts	1	1	100.0%	0	0.0%	1	100.0%
		Communications - Corporate Communications	2	2	100.0%	2	100.0%	8	400.0%
		Communications	0	0		0		0	



						#	%	# Earning	Degree
					%	Earning	Earning	This	Earners
					Earning	Degree	Degree	Degree	(this
			# in	# Earning	Any	in Initial	in Initial	in 6	degree)
			Initial	Any	Degree	Major	Major	Yrs*(any	to initial
Major	Degree	Program Major-	2012	Degree in	in 6	Option	Option in		Cohort in
Code	Туре	Option	Cohort	6 Years	Years	in 6 Yrs	6 Yrs	major)	6 Yrs*
		Communications -							
		Radio/Television	5	3	60.0%	1	20.0%	3	60.0%
		Communications - Total							
		**	8	6	75.0%	3	37.5%	12	150.0%
115	BS	Justice Administration	4	1	25.0%	0	0.0%	5	125.0%
117	BS	Game Development	7	3	42.9%	2	28.6%	2	28.6%
		Nursing (not initially							
118	BS	admitted)	0	0		0		0	
		Visual Arts - Graphic							
119	BFA	Design	9	2	22.2%	2	22.2%	3	33.3%
		Visual Arts -		0	0.00/	0	0.00/	4	25.00/
		Photographic Ars Visual Arts	0		0.0%	0	0.0%		25.0%
		VISUAL ALLS	Ü	0		0		0	
		Visual Arts - Studio Art	1	1	100.0%	1	100.0%	1	100.0%
		Visual Arts -							
		Multimedia	0	0		0		0	
		Visual Arts - Total**	14	3	21.4%	3	21.4%	5	35.7%
120	BS	Community Counseling	3	2	66.7%	1	33.3%	6	200.0%
121	AA	Criminal Justice - Law/Justice	16	2	12.5%	0	0.0%	1	6.3%
121	AA	Law/Justice	10		12.5%	U	0.0%	1	0.5%
		Criminal Justice - COP	11	5	45.5%	1	9.1%	2	18.2%
		Criminal Justice - Total							
		**	27	7	25.9%	1	3.7%	3	11.1%
122	BS	Sport Management	9	4	44.4%	0	0.0%	0	0.0%
123	BA	Public Administration	0	0		0		0	
124	BA	Military History	3		0.0%	0			33.3%
777		Non-degree Seeking	0	0		0		0	
888		Undecided	199		24.1%	0			0.0%
Total			791	206	26.0%	41			18.7%